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‘nit 5 Practice Test

Provide an appropriate response.

1) State whether the variable is discrete or continuous.
The number of goals scored in a soccer game LoL £
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2)  State whether the variable is discrete or continuous.
The speed of a car on a Los Angeles fleeway during rush hour traffic o x a _
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3) The random variable x represents the number of cars per household ina DECMALS

town of 1000)households. Find the probability of randomly selectinga L
household that has less than two cars.  y < sy x=l) Q) y=|
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4) A student has five motor vehicle accidents in one year and claims that
having five accidents is not unusual. Use the frequency distribution
below to determine if the student is correct.

[

fsic 2

Accidents| 0 1 2 3 4 5 /9(7(3 W OO/QV'ZQ (SO
Students |260 500 425 305 175 45
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5) A sports analyst records the winners of NASCAR Winston Cup races for a
recent season. The random variable x represents the races won by a driver
in one season. Use the frequency distribution to construct a probability
Cistribution> —>  F-ahle
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6)

7)

9)

Determine the probability distribution's missing value.

The probability that a tutor will see 0, 1, 2, 3, or 4 students T
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Determine the probability distribution’s missing value.
The probability that a tutor will see 0, 1, 2, 3, or 4 students
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The random variable x represents the number of credit cards that adults
have along with the correspondmg probabilities. Graph the probability
"0+

distribution. A9
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Use the frequency distribution to (a) construct a probability distribution

for the random variable x represents the number of cars per household in

a town of 1000 householdy and (b) graph the distribution.
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“ 10)  Determine whether the distribution represents a probability distribution.
If not, identify any requirements that are not satisfied.
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11)  Determine whether the distribution represents a probability distribution.
If not, identify any requirements that are not satisfied.

oEacL\ ]OFOJo s be'}‘(,)ﬂﬂ,/‘. 05] 7 /\)0 /\(

/’/

/K/m‘ 4 /)rol Dstr since
/;ab&‘o}/}ﬁ/; cannol- be /(&/

12)  The random variable x represents the number of boys|in a family of three
. children. Assuming that boys and girls are equally likely, find the mean
and standard deviation for the random variable x.
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13) _ The random variable x represents the number of credit cards that adults
have along with the corresponding probabilities. Find the meanand 4 = = X ﬁ) F eﬁid‘fbo
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Stat standard deviation.
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14)  One thousand tickets are sold at $1 each. One ticket will be randomly 41
. selected and the winner will receive a color television valued at $3987 £ é‘c"ﬂ ﬁ Fo - ) X fﬁ)
What is the expected value for a person that buys one ticket? &)l A 3? 7 V. ooo %g
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15)  From the probability distribution, find the mean and standard deviation AL (Sq 6
for the random variable x, which represents the number of cars per 5= 09¢
household in a town of 1000 households. -
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16)  Decide whether the experiment is a binomial experiment. If it is not, .
EZ) explain why. You observe the gender of the next 150 babies born ata local /7= /5 2
hospital. The random variable represents the number of girls. = *
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17)  Decide whether the experiment is a binomial experiment. If it is not,
explain why. You roll a die 750 times. The random variable represents the
number that appears on each roll of the die. .2
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18)  Decide whether the experiment is a binomial experiment. If it is not,
explain why. Surveying 1000 prisoners to see whether they are serving
time for their first offense. The random variable represents the number of
prisoners serving time for their first offense.
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19)  Decide whether the experiment is a binomial experiment. If it is not,
explain why. Each week, a man plays a game in which he has a 36% [ (5) =,36
chance of winning. The random variable is the number of times he wins in

78 weeks, — 7 /1= 12 .
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20)  Assume that male and female births are t.fguallz likely and that the birth of

any child does not affect the probability of the gender of any other

children. Suppose that 650 couples each have a baby; find the mean and ~ /= &S0
‘ standard deviation for the number of girls in the 650 babies.
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21) A test consists of 330 true or false questions. If the student guesses oneach ~ /1= 3 3()
question, what is the mean number of correct answers? /Q o g
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22)  Inarecent survey, 80% of the community favored building a police ) =, O

substation in their neighborhood. If 15 citizens are chosen, what is the x4 = /<7
: _’:rr@number favoring the substation?
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‘3) According to police sources, a car with a certain protection system will be _ 959
recovered 92% of the time. If 900 stolen cars are randomly selected, what s =92 ) Rz
is the mean and standard deviation of the number of cars recovered after

being stolen? & =
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24)  Assume that male and female births are E&déﬁj} ﬁkely and that the birth of /0 =G 0 01{31
any child does not affect the probability of the gender of any other iy
children. Find the probability of exactly eight boys m&en_blthg‘) n=10
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25) _ A test consists of 10 multiple choice questions, each with five possible =
answers, one of which is correct. To pass the test a student must get 60% p
or better on the test. If a student randomly guesses, what is the probabilit;_z? é, corfect ({0)
that the student will pass the test? let x = ¥ correc d‘
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26)

27)

28)

29)

30)

A recent survey found that 70% of all adults over 50 wear glasses for
driving. In a random sample of 10 adults over 50, what is the probability ~ /1 = /0

that?gleastsix wear glasses? X=(, or 7or ¥ or 9 or /0 14 =0 ‘
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Fifty percent of the people that get mail-order catalogs order something. e Lol :"f'
Find the probability that exactly six of 10 people\gettmg these catalogs will =/0
order something. o, T 4 ; (() 5 L 05
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t;f'éixgg-five pefgénbof men consider themselves knowledgeable football /3 Y ) n=12

fans. I@re randomly selected, find the probability that exactly two
of them will consider themselves knowledgeable fans. xX=2
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You observe the gender of the next 100 babies born at a local hospital. Nn=1[00 . .
You count the number of girls born. Identify the values of n, p, and g, and /1 = S/_ 46 =3
list the possible values of the random variable x. =0 h2, - 100

= 2 L/j
Fifty-seven percent of families say that their children have an influence on /J iy 7) Z
their vacation plans. Consider a sample of eight families who are asked if /|
their children influence their vacation plans. Identify the values of n, P,
and g, and list the possible values of the random variable x. X= 0/ 5




